Contest Name

Transfers Report

This report contains the transfers results.

132.00000

Stage 2 - Surplus of Gemma PENFOLD

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Howard GREEN | 20 | 0.15456 | 3.09120 |
| Transfer to Paul Donald KENNEDY | 66 | 0.15456 | 10.20096 |
| Transfer to David KINNIBURGH | 718 | 0.15456 | 110.97408 |
| No further preference | 50 | 0.15456 | 7.72800 |
| Not transferred due to rounding | | | 0.00576 |
| | Total | | 132.00000 |

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Math CAMPBELL-STURGESS

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|--------|-------------------------|----------------|-------------------|
| | • | | |
| | | | |

Transfers Report

This report contains the transfers results.

| Stage 4 - Exclusion of Howard GREEN | | | 268.54368 |
|-------------------------------------|-------------------------|----------------|-------------------|
| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
| Transfer to Paul Donald KENNEDY | 163 | 1.00000 | 163.00000 |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |
| | | | |

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of David KINNIBURGH

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Paul Donald KENNEDY | 291 | 1.00000 | 291.00000 |
| Transfer to Paul Donald KENNEDY | 401 | 0.15456 | 61.97856 |
| Transfer to Paul Donald KENNEDY | 12 | 0.03604 | 0.43248 |
| | | | |
| No further preference | 244 | 1.00000 | 244.00000 |
| No further preference | 321 | 0.15456 | 49.61376 |
| No further preference | 11 | 0.03604 | 0.39644 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 647.42124 |